Sample Initial BDT > 0.95

U e H e
\A% 20300 =+ 2000 9820 £ 980 11.0£25 9.6£28
DY Zjj 102000 + 10000 29900 =+ 3000 94+59 77+£30
tt 298000 £ 28000 164000 £ 15000 146 =17 102 £12
Single top quark 96000 =+ 14000 45800 £ 6900 355+5.6 257+42
QCD multijet 100000 =+ 39000 65000 £ 21000 98+£39 17.0+£5.6
DY Wijj 1720000 £ 120000 715000 + 51000 356 £65 240 + 41
Interference 7000 4= 2100 3400 4= 1000 182 4+81 9.8+55
Total backgrounds 2340000 4= 170000 1032000 58000 674 +£78 412 44
EW Wijj signal 43100 + 4300 20700 £ 2100 503 £54 308 + 34
EW Zjj signal 1330 + 130 407 £+ 41 112+13 6.6+09
Total prediction 2390000 £+ 170000 1054000 £ 58000 1186 £95 726 £ 56
Data 2381901 1051285 1138 686



